Challenge Problem #3

WEIGHT PROBLEM

Must show work. 
Due no later than Friday 21 October

YOUR NAME: ___________________________________________

extra credit  (10 points)   show work/all or nothing

I am a compound composed of two elements. One of my elements is from group 7, the other is a group 5 element.  A collection of 200 molecules of me weighs 5.61 x 10-8  pg. One molecule of me contains 6 atoms.  When 2 molecules of me decompose  together, 5 molecules of a diatomic gas form as part (but not all) of the reaction products . The gas is toxic and so reactive that it can be made to react with noble gases to form compounds. 

Who am I and what is my most likely geometric structure ?

(show work or no credit)

